(BAIER) pes2ss

Eleictro- ID-Nr.: 9010
werkzeuvge

POSIDNR BEZEICHNUNG MASCH

1

© oo U wWN

10

12
13
14
15
16
24
25
27
28
29
30
31
32
33
34
35
36
38
39
40
42
43
44
45
47
48
49
50
51
53
54
55
56
60
61

62620 SAUGROHR
71639 KLEMMHEBEL M.GEWINDEBOLZEN M6X30
43794 6-KT-MUTTER M6 DIN934 GALV
62760 BOHRKRONEN-AUFNAHME
62604 BOHRMITTENANZEIGE KPL.
8531 TELLERFEDER 18X8,2X1
66183 DRUCKFEDER
59717 WELLENDICHTRING 30X42X7 DIN3760
62752 ABTRIEBSWELLE
29744 RILLEN-KULA 6905 LLU
36301 LINSENBLECHSCHR:4,8x90 DIN7981 GALV
66175 GETRIEBEGEHAEUSE
52951 SICHERUNGSRING SEEGER SW27
9008 ZAHNRAD 33Z
15313 HANDGRIFF PA-GF 210MMLG
22400 RILLEN-KULA 629
76471 VORGELEGEWELLE 247 KPL.
12724 FLACHDICHTUNG
22103 ZYL.STIFT 4X16 DIN7
38034 MOTORDECKEL
14332 PASSCHEIBE 16x10x0,5 DIN 988
42713 RILLEN-KULA 6201 2RS
21600 LUEFTER
7107 ANKER 230V
5116 ISOLIERRING
22681 RILLEN-KULA 6000 2RS
17517 LUFTLEITSCHEIBE
7755 EJOT DELTA PT 4X65 TORXPLUS
9040 FELD 230V
45443 MOTORGEHAUSE
45872 KOHLEBURSTE
52894 KOHLEHALTER A3
45625 KOHLEHALTERDECKEL
21030 EJOT DELTA PT 4X12 TORXPLUS
25221 KNICKSCHUTZTULLE
24273 KABEL
17913 KABELBRUCKE
20990 EJOT DELTA PT 4X16 TORXPLUS
44941 EJOT DELTA PT 5X40 TORXPLUS
35055 ELEKTRONISCHER REGLER
24265 SCHALTER
32607 HANDGRIFF KPL.
7340 KOHLEHALTERDECKEL MIT LIBELLE
9009 TYPENSCHILD
31088 FIRMENSCHILD

Maschinenfabrik OTTO BAIER GmbH, Heckenwiesen 26, D 71679 Asperg, Germany

STAND: 2017.04
ERSETZT:

Tel.: 07141/ 30320 Fax: 07141 /303243

PE PG

WNRPRPRRPRPWOWONRPNWONRPRPRPRNRPRPNRPRPRPRPRRPONRPRPRPENRPNRPRPEPONNRRE®WRPRE

03
04
10
12
05
10
05
23
16
08
02
17
02
10
06
03
16
06
07
13
03
04
03
18
04
03
06
14
15
11
03
06
04
09
02
10
08
08
09
14
10
10
04
08
16

Seite 1v. 2



ERSATZTEILZEICHNUNG (BAIER

Diamant—Trockenbohrmaschine

BDB824S
ID.NR.:9010
Stand: 2017.04




